Use a line of best fit on a
scatter graph
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Use a line of best fit on a scatter graph

1. Here is the scatter graph for the age
of a tree and the diameter of its trunk.

diameter of tree (inches)

age of tree (years)

a) Draw a line of best fit on the scatter
graph.

b) Estimate the age of a tree that is 8
iInches in diameter.

2. The scatter graph shows the
number of accidents per million
miles for drivers of different ages.

400-
350 - e
300+
250 -
200 - @

150 ® o

100 ® ® ®

50 - i
0

Accidents

1 1 I lAge I I 1 1 1
O 10 20 30 4050 60 70 80 9

a) Draw a line of best fit.

b) Why can you not use the graph to
estimate the number of accidents for
an 80 year old?
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Use a line of best fit on a scatter graph

1. Here is the scatter graph for the age
of a tree and the diameter of its trunk.

ter of tree (inches)
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a) Draw a line of best fit on the scatter

graph.
b) Estimate the age of a tree that is 8
iInches in diameter. 7 years

4

2. The scatter graph shows the
number of accidents per million
miles for drivers of different ages.
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a) Draw a line of best fit.
b) Why can you not use the graph to

estimate the number of accidents for
an 80 year O|d? Outside of the data collected.
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